
Accessport Mount for Ford F-150/Raptor MY17-22

8G4600 – Accessport Mount for Ford F-150 MY17-22

2017 - 2021 F150/Raptor

Congratulations on your purchase of the COBB Tuning Accessport Mount! The following instructions will assist you through the installation 
process. Please read them BEFORE beginning the install to familiarize yourself with the steps and tools needed. If you feel you cannot properly 

perform this installation, we HIGHLY recommend you take the vehicle to a qualified and experienced automotive technician.

http://www.cobbtuning.com


Table of Contents

Table of Contents
Parts List
Tools Needed

Misc.
Installation and Assembly
Contact Us:

Parts List
(2) M4 x 0.7 x 12 Socket Head Bolts

Top and Bottom Aluminum Mount Halves

Tools Needed

Misc.

Included Allen Wrenches



#400 Rubber Insert (2021 F150/Raptor)

#416 Rubber Insert 2017-2020 F150/Raptor



25mm Ball to Dual T-Slot Adapter

Double Ball End Clamp

Ball Mount



M6 x 1 x 35 Socket Head Bolt

M6 Flat Washer

Installation and Assembly
Exploded View



1.  

2.  

Park your car in a flat, level area

Locate the M6 x 1 x 35 Bolt, M6 Flat washer and the Ball mount.  Slip the bolt through the 
washer and then into the mount.



2.  

3.  Using your M5 Hex Key, install the ball mount into the rear portion of the mount halves.



3.  

4.  

5.  

Grab the Double Ball End Clamp and attach it to the ball you just assembled, and the ball 
mount to t-slot adapter.

Slip the correct insert adapter over the grab handle (See Below).  Match the angled and flat 
sides of the adapter to the handle dimensions.
2017-2020 F-150 / Raptor - Mount #416
2021 F-150, Raptor - Mount #400



5.  

6.  Pop the pre-assembled mount onto the bushing, keeping it beetween the two ribs on the 
mount.  Then using your M3 Hex Key and the two M4 x 0.7 x 12 Socket head bolt, install the 
front part of the mount hand tight.



7.  Rotate everything around so that you're happy with where the Accessport sits, then you're all 
done! Go out and enjoy!

Contact Us:

COBB Customer Support

Web Support and Tech Articles: COBB Tuning Customer Support Center

Email: support@cobbtuning.com

Phone support available 9am to 6pm Monday-Thursday. 9am to 4pm Friday (CST)

866.922.3059

return to www.cobbtuning.com

https://cobbtuning.atlassian.net/wiki/spaces/PRS/pages/65896483/COBB+Tuning+Customer+Support+Center
mailto:support@cobbtuning.com
http://www.cobbtuning.com/

	Accessport Mount for Ford F-150/Raptor MY17-22

